=k

Wwo (¢

ANYVLINVS TVNV

9 a3

T O Un 2 | N w8 s
o OO ST e BN N 8=
SIS STE RS N e T e = B B s B s B |
- R B s T B s B L O o B B B I | [~
O = = =g s
2 = ol B B e B R0 W I R S e R
= | 22 = G 11100
N I R =R N e e I N
=0 | 22 SOl = I =
o= | G2 o] —
U = e | ]
- u N BEGD B B = 0 - &
a;-, Fonmend ::I‘)"
e ol
e e
P
T
g
2
=
(o33
& & 4.0 291.461PROJ. KAN, SAN. KSHI Rd=287.97
o = - 200 289.46
|
“i
|
\
!
; \
g i
\
\
%
\
o < §’ 9 5 81 796,401 ¢ T ud 38 1 4599 -
- L | 850 : 2.501 293.90| 296.40 gg%ow% Dm;%wx S114 wlol 7z bud 38 i 45-293,90 0.6m NN RO, STALOWA
= N TN GAT AN S 9300mm, [=3.0m
. N\ R \
@ P \\
o g\ 5001 | .
o £ 1 880 2101 295.90] 298.00 STUDNIA TYPOWA S115 wlot 7z bud 36-295,9 43-296,50 0.6m B
= o NS ISTN._WOD. 244 DN N
T\ = \
N 2 ;%‘ \ \
£ < - AN
: :\| .
o 21080l g |F 2.00| 267.50, 299.50{STUDNIA TYPOWA 5116 wot 2z bud 41~297,5 0.6m NN
" > oL SN, WOD. 940 . |
S\ - o AN \ R.O. STALOWA
RELT G o 298,33 300.33 1SN, CGAZ X N #800mm, L=23.0m
& \\ h
P y N
A AN N
s \ \\
o ©2 | i3s0 OO (¥ 1 2.00] 300,00 302.00[STUDNIA TYPOWA S117 wlot z bud 39- 300,00 0.6m ) :
e *:5 O X - N
O N N
b ) N AN
e - \ N
1532 N \\ 30106 30544/ ISTN. WOD. 240 \\
- 4 Ay .
o 22| 1880 5 & | 250] 301.40; 303,90 STUDNIA_TYPOWA S118 wiot z bud 32- 301,40 G.6m J}\
on [y
: & A
\
\
"s\ ‘ N \ R.0. STALOWA
é 1B3E \ 303400 30590[ISIN, GAZ X Q?O()mm, L:i(}m
|
E\
\ \
& A \\
o\
w0 \
- £ | 2080 ; 2.501 305.30] 307.80I STUDNIA TYPOWA S119 wlot 7z bud 28-305,30 0.6m
o — - [
© o N\ SN R.O. STALOWA
216.4 \ g 30618 308,78 1SIN._GAZ BO0mm. L=5.0m
k\ -
A N
n \\_ ™.
g 3 .
° \ ~
Y ™~
\ . N
T z A
o 21 2500 = 3,001 308,70 512,701 STUDNIA TYPOWA 5120 wiot z bud 24-309.7 0.6m
= 0 300 30970 \\
\ oz ,
V= . -
) \ : SN CAZ N R.O. STALOWA =
ums,a \ 3,08 31387ISIN, GAL < N #8300mm. L=3.0m ,5
B \ \ i
§ \
\ <
R \\ —
& \ Q
e 22| 2680 i 2.00] 313,00 315.00{STUDNIA TYPOWA S121 wiot 7 bud 19-313,00 0.6m 2 &
“ o) = \ Z
| ¢ \
296.0 ig 31331 15.36[ISTN, WD, \\ \ E
& \ ¥ N G A\ '\ R.O. STALOWA
K 1y 8 57 3 ReEIST N
P 302.5 x\ 3357 315660 ISIN, GAZ Y \ ®300mm’ g_::: '(Om
| \
\\
o \ \
o 3202 | 31426 3647 ISIN, LINIA NAPOW,
}
i_k \\
| \
\
o T
< 1z N \ R.0. STALOWA
o © a0 O T 2.40| 15.38| 317782 CAL X 4500mm, L=3.0m
< o2 "STUDNIA TYPOWA $T27 wiol 7 bud 15-315,40 0.bm___~ s !
oo o TSN, WOD. 840 | |
(] \\, ) | ;
- - \ \ !
PN 4 |
3722 \ 15460 3M7.5805TN. KABEL ENERG, i
,:4 \x
on s ;
o w5 L3801 DO Gl 2001 315,500 517.50 STUDNIA TYPOWA $1220 wlol 2 bud 13-315.50 0.8m -
- & i ISTN. WOD. 940 | R.0. STALOWA
= 392.27 - 31553 37535IN, GAZ 1 T @39@;’3’?3’), =32 Om
= - |
‘ UUN VR I ~ | S
%2 a0 = 2.00| 315.58| 317.58|STUDNIA TYPOWA $123 wiol 2 bud 11-315,58 0.6m = RO-}\SiALOWA
p=y ry .
' &3 = TN, GAZ.  9800mm, [=30m
Lo \
| b |
QL i
\ \
\
\
;‘ \\ “a,t
!
\
| §
~ \
W 4 \
- 2 | 4560 El 2.00) $17.06] 319.06[STUDNIA TYPOWA S124 wiot 7 bud 8-317,06 0.6m = *\
e 4V
: o Vo h ~
! ;,“Z“: N
\ = ~
& Y ~
< - AN
. \\ “
0\ ™
o Y ™~
o 22| 4820 5 ' 2.00] 320.00] 322.00/STUDNIA TYPOWA S125 wiot 7z bud 189-320,00 0.6m D
S g\;‘ ST N -
e PN | ; T
- Y2 14830 £ | 2.50] 322.30] 324.80,STUDNIA TYPOWA S176 wiot 7 bud 1-322,30.0:6m " -
= &
0z 31§ = vl ow 3B E X
BEN 2R g 3 2iEE e oY o o
(] Oz eI o = a g Ow .
e o g O v O 2 & 1 1
8 N z A m b A ﬁ e T 4
—1le PO 2l BN S P JA) P ‘ S = = T
5 << O 24273 w8l = 52 f i 5 c
aug ol m Zip= g P oA e = o U
N 3 st CX,ME:" z E I a ] oo ot wn QO O
g—é&? i - - 2 e % E‘:: %} P F—i ?D" wn w O
REE f 2 BExmslEr 2 = NQOO 55 >
‘ g"«‘ N @) ?gj g . ‘g OO ; % = — O N
- —t N > N /
® E 2 = > ? . ) SO e g_ o % Z
P T b ol
v Z3 g - ; F N o~ % = ;\:2 » -Q. o >
T = N O - O .- N m
& 9 3 o a2l v : . n X c QD O
oQ= 2 Z EF | 2 o = # N @ zZ
o ~ F = e T & o = = N
si8 <l m 8 8 £ 5 = 2% = 2 m
a8 = = PASR LA E =
ANF R e = = =0 =
g R8s &7 s & Po= = 0 D Z
L= % = 4 & o Q= D = —
RUS Z 8 |E e @ g N _ ! > >
TAE o~ B N > 3 . ~
Q3 ~ 2 < = D @ (@) g —
— L - E = CE S =
== Q b=t m & S = 2. P O
e Q g 2 = = Q =
S8 ¢ N - = o =~ e 5
8ed 2 2 2 P F | B 3 = =
238 B = /g E =
Safk 5l @ o < ®
gz O - 7 L =
> ot 1o S % L o &
F 2 SRS 2 SR :
— @ L = W= -
REY L & & = Z
~% 2!
: I & v =
x gf\ o~ &
3l =
s F| W =2 X =
., d B f
5 =2 faf
S z
|




